

1-1-2000

Asymptotic Behavior of the Zero Solutions to Generalized Pipe and Rotating Shaft Equations

AYFER KURT

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

Recommended Citation

KURT, AYFER (2000) "Asymptotic Behavior of the Zero Solutions to Generalized Pipe and Rotating Shaft Equations," *Turkish Journal of Mathematics*: Vol. 24: No. 1, Article 5. Available at: <https://journals.tubitak.gov.tr/math/vol24/iss1/5>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact academic.publications@tubitak.gov.tr.

Asymptotic Behavior of the Zero Solutions to Generalized Pipe and Rotating Shaft Equations

Ayfer Kurt

Abstract

A non-autonomous partial differential equation describing the dynamics of a uniform pipe and a system describing the dynamics of a rotating shaft are considered. Sufficient conditions for the global asymptotic stability of the zero solution of the boundary value problem for the differential equation and the system under consideration are established by using the Lyapunov function technique.

Key Words: Stability, Lyapunov function

1. Introduction

In this paper we are concerned with the global asymptotic stability of the following equation, for $x \in (0, L), t \in \mathbb{R}^+$

$$w_{tt} + aw_{xxxx} + bw_{txxxx} + cw_t + \alpha(t)w_{xx} + l(x)\beta(t)w_{xx} + \gamma(t)w_{xt} = 0, \quad (1)$$

under the boundary conditions

$$w(0, t) = w(L, t) = w_x(0, t) = w_x(L, t) = 0, t \in \mathbb{R}^+ \quad (2)$$

or

$$w(0, t) = w(L, t) = w_{xx}(0, t) = w_{xx}(L, t) = 0, t \in \mathbb{R}^+ \quad (3)$$

where a, b, c are given positive constants, and $\alpha(t), \beta(t), \gamma(t), l(x)$ are positive bounded functions and the following system

$$v_{tt} + \alpha_1 v_{xxxx} - a(t)w_t - b(t)v - c(t)w + \beta_1 v_{txxxx} + \gamma v_t - d(t)w = 0 \quad (4)$$

1991 *Mathematics Subject Classification*, 34D20, 58F10, 73H10, 93D05, 93D20

$$w_{tt} + \alpha_2 w_{xxxx} - a(t)v_t - b(t)w + c(t)v + \beta_2 w_{txxxx} + \gamma w_t + d(t)v = 0 \quad (5)$$

under the boundary conditions

$$\begin{aligned} v(0, t) &= v(L, t) = w(0, t) = w(L, t) \\ &= v_x(0, t) = v_x(L, t) = w_x(0, t) = w_x(L, t) = 0, \quad t \in \mathbb{R}^+ \end{aligned} \quad (6)$$

or

$$\begin{aligned} v(0, t) &= v(L, t) = w(0, t) = w(L, t) \\ &= v_{xx}(0, t) = v_{xx}(L, t) = w_{xx}(0, t) = w_{xx}(L, t) = 0, \quad t \in \mathbb{R} \end{aligned} \quad (7)$$

where $\alpha_1, \alpha_2, \beta_1, \beta_2$ and γ are given positive constants and $a(t), b(t), c(t), d(t)$ are positive bounded functions.

In the article of Plaut [4] the following equation

$$\begin{aligned} 0 &= EI w_{xxxx} + d_i EI w_{txxxx} + d_e w_t + MU^2 w_{xx} + (L-x)M\dot{U}w_{xx} \\ &\quad + 2MUw_{xt} + (M+m)w_{tt} \end{aligned} \quad (8)$$

under the boundary conditions (2) (or (3)) and the following system

$$EI_1 v_{xxxx} + mv_{tt} - 2m\Omega w_t - m\Omega^2 v - m\dot{\Omega}w + d_i EI_1 v_{txxxx} + d_e m(v_t - \Omega w) = 0 \quad (9)$$

$$EI_2 w_{xxxx} + mw_{tt} - 2m\Omega v_t - m\Omega^2 w + m\dot{\Omega}v + d_i EI_2 w_{txxxx} + d_e m(w_t + \Omega v) = 0 \quad (10)$$

under the boundary conditions (6) (or (7)) are considered. Equation (8) describes the dynamics of a uniform pipe of length L , mass per unit length m , bending stiffness EI , conveying a fluid of mass per unit length M and time varying velocity $U(t)$ in the positive x direction, d_i and d_e are internal and external damping coefficients respectively. Equations (9) and (10) describe the dynamics of a rotating shaft with time-varying angular velocity $\Omega(t)$. The quantities L, m, d_i, d_e are the same as in equation (8). EI_1 and EI_2 are bending stiffnesses. In [4] it is proven that the zero solution of the problem (8),(2) (or (8),(3)) is stable with respect to the norm $(\int_0^L (w_{xx}^2 + w_t^2) dx)^{\frac{1}{2}}$ and the zero solution of the problem (9),(10), (6) (or (9),(10),(7)) is stable with respect to the norm $\int_0^L (v_{xx}^2 + w_{xx}^2 + v_t^2 + w_t^2) dx)^{\frac{1}{2}}$ under certain conditions.

Our main aim is to find sufficient conditions guaranteeing the global asymptotic stability of the zero solution of (1),(2) (or (1),(3)) and (4),(5),(6) (or (4),(5),(7)) and to

generalize the previous results of PLAUT [4] to equations with arbitrary time-dependent coefficients. The Lyapunov function technique is used to obtain our results. The method used in this paper is also applicable to nonlinear systems. KALANTAROV and KURT [2] examined the global asymptotic stability of a class of similar equations with nonlinear dissipative terms.

The state vector is denoted \mathbf{u} and the equilibrium state is $\mathbf{u} = 0$. The state space \mathcal{U} contains the elements \mathbf{u} which satisfy the boundary conditions and appropriate smoothness conditions. An initial state at $t = 0$ is \mathbf{u}_0 and the ensuing motion is $\mathbf{u}(t, \mathbf{u}_0)$. A specific norm $\|\cdot\|$ is defined on \mathcal{U} . The extended Lyapunov's direct method requires the construction of a functional \mathcal{W} , which is defined in the state space \mathcal{U} having the following properties (DYM [1], MOVCHAN [3], ZUBOV [6]). The subsequent three properties of the function \mathcal{W} represent a sufficient condition for **stability** of the equilibrium state $\mathbf{u} = 0$.

1. There exists a $c_1 > 0$ so that for every $\mathbf{u} \in \mathcal{U}$, $\mathcal{W}(\mathbf{u}) \leq c_1 \|\mathbf{u}\|^2$.
2. There exists a $c_2 > 0$ so that for every $\mathbf{u} \in \mathcal{U}$, $\mathcal{W}(\mathbf{u}) \geq c_2 \|\mathbf{u}\|^2$.
3. $\frac{d}{dt}\mathcal{W}(\mathbf{u}(t, \mathbf{u}_0)) \leq 0$.

The zero solution is called **globally asymptotically stable** if the zero solution is stable and all solutions tend to zero, in the appropriate sense, as $t \rightarrow \infty$.

We shall use the following notations throughout:

$$\|w\| = \left(\int_0^L w^2(x)dx\right)^{\frac{1}{2}}, \quad (w, v) = \int_L^0 w(x)v(x)dx.$$

We also use the Wirtinger inequality [5]

$$\int_0^L w^2(x)dx \leq \lambda \int_0^L w_x^2(x)dx \tag{11}$$

where $\lambda = \frac{L^2}{\pi^2}$ if both ends are pinned, $\lambda = \frac{L^2}{4\pi^2}$ if both ends are clamped. After the integration of the equality $(ww_x)_x = w_x^2 + ww_{xx}$ with respect to x and using Cauchy and

Wirtinger inequalities respectively we obtain at once

$$\int_0^L w_x^2(x)dx \leq \lambda \int_0^L w_{xx}^2(x)dx. \quad (12)$$

Using (11)and (12), it is not difficult to see that

$$\int_0^L w^2(x)dx \leq \lambda^2 \int_0^L w_x^2(x)dx. \quad (13)$$

2. Global Asymptotic Stability

Theorem 2.1. *Suppose that the following conditions are satisfied:*

i) a, b, c are given positive constants,

ii) $\alpha(\cdot), \beta(\cdot)$ are positive functions from $C^1[0, \infty)$, satisfying the conditions

$$\alpha(t) + \beta(t)L + \beta(t)L_1\sqrt{\lambda} + \frac{\gamma^2(t)}{2} \leq a_0 \quad (14)$$

$$\left| \alpha'(t) \right| + \left| \beta'(t) \right| L + \beta^2(t)L_1 \leq \eta_0 \left(\frac{a}{\lambda} - a_0 \right) \quad (15)$$

where a_0 is an arbitrary positive number which satisfies

$$a_0 < \frac{a}{\lambda}, \text{ and } \eta_0 = \min \left\{ 1, \frac{a - a_0\lambda}{|\lambda^2 - b|}, \frac{2(\frac{b}{\lambda^2} + c) - L_1}{3} \right\}$$

iii) $\gamma(\cdot)$ is a positive function from $C[0, \infty)$

iv) $l(\cdot) \in C^1[0, L]$ and

$$0 \leq l(x) \leq L, \quad (16)$$

$$\left| l'(x) \right| \leq L_1, \forall x \in [0, L], \quad (17)$$

where L_1 is a positive number satisfying

$$L_1 < 2\left(\frac{b}{\lambda^2} + c\right). \quad (18)$$

Then the zero solution of (1),(2) (or (1), (3)) is globally asymptotically stable with respect to the norm

$$\left(\int_0^L (w_{xx}^2 + w_t^2) dx\right)^{\frac{1}{2}}.$$

Moreover for every solution of equation (1) satisfying the boundary conditions (2) or (3) the following estimate holds:

$$\|w_{xx}\|^2 + \|w_t\|^2 \leq K_1 e^{-\delta t} \quad (19)$$

where K_1 and δ are positive parameters.

Proof. Suppose that $w(x, t)$ is a solution of equation (1) satisfying the boundary conditions (2(or (3))) and η is a parameter to be specified later. Multiplying the equation (1) by $w_t + \eta w$ and using the boundary conditions(2) (or (3)) we obtain:

$$\frac{d}{dt} E_\eta(w, w_t) + H_\eta(w, w_t) = 0 \quad (20)$$

where

$$\begin{aligned} E_\eta(w, w_t) &= \eta(w_t, w) + \eta \frac{b}{2} \|w_{xx}\|^2 + \eta \frac{c}{2} \|w\|^2 + \frac{1}{2} \|w_t\|^2 + \frac{a}{2} \|w_{xx}\|^2 \\ &\quad - \frac{1}{2} \alpha(t) \|w_x\|^2 - \frac{1}{2} \beta(t) \int_0^L l(x) w_x^2 dx \end{aligned} \quad (21)$$

and

$$\begin{aligned} H_\eta(w, w_t) &= -\eta \alpha(t) \|w_x\|^2 + \eta a \|w_{xx}\|^2 - \eta \|w_t\|^2 \\ &\quad - \eta \beta(t) \int_0^L l(x) w_x^2 dx - \eta \beta(t) \int_0^L l'(x) w_x w dx - \eta \gamma(t) (w_x, w_t) \\ &\quad + \frac{1}{2} \alpha'(t) \|w_x\|^2 + \frac{1}{2} \beta'(t) \int_0^L l(x) w_x^2 dx \\ &\quad - \beta(t) \int_0^L l'(x) w_x w_t dx + c \|w_t\|^2 + b \|w_{txx}\|^2. \end{aligned} \quad (22)$$

KURT

By using (13) we obtain the following inequality:

$$\eta |(w, w_t)| \leq \eta \lambda \|w_t\| \|w_{xx}\| \leq \eta \frac{\lambda^2}{2} \|w_{xx}\|^2 + \frac{\eta}{2} \|w_t\|^2. \quad (23)$$

Using (23), (12), and (13) in (21) we get:

$$E_\eta(w, w_t) \geq \frac{1}{2} [a - \eta(\lambda^2 - b) - (\alpha(t) + \beta(t)L)\lambda] \|w_{xx}\|^2 + \frac{1}{2}(1 - \eta) \|w_t\|^2. \quad (24)$$

If $\lambda^2 - b < 0$, from (14) and for $\eta < 1$ we have:

$$E_\eta(w, w_t) \geq k_0 (\|w_{xx}\|^2 + \|w_t\|^2) \quad (25)$$

for a suitable constant k_0 . If $\lambda^2 - b > 0$, from (14) and for

$$\eta < \min \left\{ 1, \frac{a - a_0\lambda}{\lambda^2 - b} \right\} \quad (26)$$

we have

$$E_\eta(w, w_t) \geq k_1 (\|w_{xx}\|^2 + \|w_t\|^2) \quad (27)$$

for a suitable constant k_1 . Using (23) in (21) we obtain:

$$\begin{aligned} E_\eta(w, w_t) &\leq \eta \frac{\lambda^2}{2} \|w_{xx}\|^2 + \frac{\eta}{2} \|w_t\|^2 + \eta \frac{b}{2} \|w_{xx}\|^2 + \eta c \frac{\lambda^2}{2} \|w_{xx}\|^2 \\ &\quad + \frac{1}{2} \|w_t\|^2 + \frac{a}{2} \|w_{xx}\|^2 + \frac{\lambda}{2} (\alpha(t) + \beta(t)L) \|w_{xx}\|^2 \\ &\leq \frac{1}{2} (\eta \lambda^2 + \eta b + \eta c \lambda^2 + a + a_0 \lambda) \|w_{xx}\|^2 + \frac{1}{2} (1 + \eta) \|w_t\|^2. \end{aligned} \quad (28)$$

For

$$k_2 = \frac{1}{2} \max \{ \eta \lambda^2 + \eta b + \eta c \lambda^2 + a + a_0 \lambda, 1 + \eta \} \quad (29)$$

we obtain from (28) that:

$$E_\eta(w, w_t) \leq k_2 (\|w_{xx}\|^2 + \|w_t\|^2). \quad (30)$$

Using (12) and (17) we obtain the following inequalities:

$$\gamma(t) |(w_x, w_t)| \leq \frac{\gamma^2(t)}{2} \|w_x\|^2 + \frac{1}{2} \|w_t\|^2 \quad (31)$$

$$\beta(t) \int_0^L l'(x) w_x w dx \leq \beta(t) L_1 \sqrt{\lambda} \|w_x\|^2 \quad (32)$$

$$\beta(t) \int_0^L l'(x) w_x w_t dx \leq \frac{\beta^2(t)}{2} L_1 \|w_x\|^2 + \frac{L_1}{2} \|w_t\|^2. \quad (33)$$

By using (12),(13),(16),(31),(32) and (33) in (22) we obtain that the following inequality holds:

$$\begin{aligned} H_\eta(w, w_t) &\geq [\eta(\frac{a}{\lambda} - \alpha(t) - \beta(t)L - \beta(t)L_1\sqrt{\lambda} \\ &\quad - \frac{\gamma^2(t)}{2}) - \frac{1}{2}(|\alpha'(t)| + |\beta'(t)|L + \beta^2(t)L_1)] \|w_x\|^2 \\ &\quad + (\frac{b}{\lambda^2} + c - \frac{L_1}{2} - \frac{3}{2}\eta) \|w_t\|^2 \end{aligned} \quad (34)$$

If we use the conditions (14)-(16), we obtain $H_\eta(w, w_t) \geq 0$ and $\frac{d}{dt}E_\eta(w, w_t) \leq 0$ for

$$\frac{\eta_0}{2} \leq \eta \leq \eta_0 \quad (35)$$

where $\eta_0 = \min \left\{ 1, \frac{a-a_0\lambda}{|\lambda^2-b|}, \frac{2(\frac{b}{\lambda^2}+c)-L_1}{3} \right\}$. So we obtained that $E_\eta(w, w_t)$ is a Lyapunov functional for the problem (1), (2) (and (1),(3)). Thus the zero solution of (1), (2) (and (1),(3)) is stable with respect to the norm $(\int_0^L (w_{xx}^2 + w_t^2) dx)^{\frac{1}{2}}$. Let δ be a positive number;

then we obtain from (20) that:

$$\begin{aligned} \frac{d}{dt}E_\eta(w, w_t) + \delta E_\eta(w, w_t) &= \delta\eta(w_t, w) + \delta\eta\frac{b}{2} \|w_{xx}\|^2 \\ &\quad + \delta\eta\frac{c}{2} \|w\|^2 + \frac{\delta}{2} \|w_t\|^2 + \frac{a\delta}{2} \|w_{xx}\|^2 \\ &\quad - \frac{\delta}{2}\alpha(t) \|w_x\|^2 - \frac{\delta}{2}\beta(t) \int_0^L l(x) w_x^2 dx \\ &\quad + \eta\alpha(t) \|w_x\|^2 - \eta a \|w_{xx}\|^2 + \eta \|w_t\|^2 \\ &\quad + \eta\beta(t) \int_0^L l(x) w_x^2 dx + \eta\beta(t) \int_0^L l'(x) w_x w dx \\ &\quad + \eta\gamma(t)(w_x, w_t) - \frac{1}{2}\alpha'(t) \|w_x\|^2 \\ &\quad - \frac{1}{2}\beta'(t) \int_0^L l(x) w_x^2 dx + \beta(t) \int_0^L l'(x) w_x w_t dx \\ &\quad - c \|w_t\|^2 - b \|w_{ttx}\|^2. \end{aligned} \quad (36)$$

By using (11),(12),(13) and (14) we obtain from (36) that:

$$\begin{aligned}
 \frac{d}{dt} E_\eta(w, w_t) + \delta E_\eta(w, w_t) &\leq \left(\frac{\delta(a+a_0\lambda)}{2} + \delta\eta\frac{\lambda^2}{2} + \delta\eta\frac{b}{2} + \delta\eta c\frac{\lambda^2}{2} \right. \\
 &\quad + \eta\lambda(\alpha(t) + \beta(t)L + \beta(t)L_1\sqrt{\lambda} \\
 &\quad + \frac{\gamma^2(t)}{2}) - \eta a + \frac{\lambda}{2}(|\alpha'(t)| + |\beta'(t)|)L \\
 &\quad + \beta^2(t)L_1\|w_{xx}\|^2 \\
 &\quad \left. + (\frac{\delta\eta}{2} + \frac{\delta}{2} + \frac{3}{2}\eta + \frac{L_1}{2} - c - \frac{b}{\lambda^2})\|w_t\|^2 \right)
 \end{aligned} \tag{37}$$

From the conditions (14)-(18), and for η chosen in (35), we obtain from (37):

$$\begin{aligned}
 \frac{d}{dt} E_\eta(w, w_t) + \delta E_\eta(w, w_t) &\leq \left(\frac{\delta(a+a_0\lambda)}{2} + \delta\eta\frac{\lambda^2}{2} + \delta\eta\frac{b}{2} + \delta\eta c\frac{\lambda^2}{2} \right. \\
 &\quad - (\eta - \frac{\eta_0}{2})(a - a_0\lambda)\|w_{xx}\|^2 \\
 &\quad \left. + (\frac{\delta\eta}{2} + \frac{\delta}{2} + \frac{3}{2}\eta + \frac{L_1}{2} - c - \frac{b}{\lambda^2})\|w_t\|^2 \right).
 \end{aligned} \tag{38}$$

Choosing $\delta > 0$ sufficiently small in (38) we obtain:

$$\frac{d}{dt} E_\eta(w, w_t) + \delta E_\eta(w, w_t) \leq 0. \tag{39}$$

It follows from the last inequality that:

$$E_\eta(w, w_t) \leq E_\eta(w(x, 0), w_t(x, 0))e^{-\delta t}. \tag{40}$$

Thus (25) (or (27)) and (40) imply the required inequality (19). \square

Theorem 2.2. *Suppose*

- i) $\alpha_1, \alpha_2, \beta_1, \beta_2, \gamma$ are given positive constants,
- ii) $a(\cdot), b(\cdot), c(\cdot), d(\cdot)$ are positive bounded functions of $C^1[0, \infty)$ satisfying the following conditions:

$$b(t) + \frac{a^2(t)}{2} \leq \alpha_0 \tag{41}$$

$$|b'(t)| + c(t) + d(t) \leq \eta_0\left(\frac{\alpha}{\lambda^2} - \alpha_0\right) \tag{42}$$

$$a(t) + \frac{c(t)}{2} + \frac{d(t)}{2} \leq \gamma_0 \quad (43)$$

where $\alpha_0, \beta_0, \gamma_0$ are any positive numbers satisfying $\alpha_0 < \frac{\alpha}{\lambda^2} = \frac{\min\{\alpha_1, \alpha_2\}}{\lambda^2}$, $\beta_0 = \min\{\beta_1, \beta_2\}$, $\gamma_0 < \gamma$, $\eta_0 = \min\left\{1, \frac{\alpha_1 - \alpha_0 \lambda^2}{|\lambda^2 + \lambda^2 \gamma - \beta_1|}, \frac{\alpha_2 - \alpha_0 \lambda^2}{|\lambda^2 + \lambda^2 \gamma - \beta_2|}, \frac{2(\gamma - \gamma_0 + \frac{\beta_0}{\lambda^2})}{3}\right\}$. Then the zero solution of (4),(5),(6) (or (4),(5), (7)) is globally asymptotically stable with respect to the norm $(\int_0^L (v_{xx}^2 + w_{xx}^2 + v_t^2 + w_t^2) dx)^{\frac{1}{2}}$. Moreover for every solution of the system (4),(5) satisfying the boundary conditions (6) (or(7)) the following estimate holds:

$$\|v_{xx}\|^2 + \|w_{xx}\|^2 + \|v_t\|^2 + \|w_t\|^2 \leq K_2 e^{-\delta t} \quad (44)$$

where K_2 and δ are positive parameters.

Proof. Let $v(x, t)$ be a solution of the equation (4) and $w(x, t)$ be a solution of equation (5) satisfying the boundary conditions (6) (or (7)) and η be a positive parameter which will be chosen. Multiplying equation (4) by $v_t + \eta v$ and equation (5) by $w_t + \eta w$, using the boundary conditions (6) (or (7)) and adding the obtained equalities, we get the following equality:

$$\begin{aligned} 0 &= \frac{d}{dt} \left[\frac{1}{2} \|v_t\|^2 + \frac{1}{2} \|w_t\|^2 + \frac{\alpha_1}{2} \|v_{xx}\|^2 + \frac{\alpha_2}{2} \|w_{xx}\|^2 \right. \\ &\quad - \frac{b(t)}{2} \|v\|^2 - \frac{b(t)}{2} \|w\|^2 + \eta(v_t, v) + \eta(w_t, w) + \eta \frac{\beta_1}{2} \|v_{xx}\|^2 \\ &\quad + \eta \frac{\beta_2}{2} \|w_{xx}\|^2 + \eta \frac{\gamma}{2} \|v\|^2 + \eta \frac{\gamma}{2} \|w\|^2 \left. \right] - 2a(t)(v_t, w_t) \\ &\quad + \frac{b'(t)}{2} \|v\|^2 + \frac{b'(t)}{2} \|w\|^2 - c(t)(v_t, w) + c(t)(w_t, v) \\ &\quad + \beta_1 \|v_{txx}\|^2 + \beta_2 \|w_{txx}\|^2 + \gamma \|v_t\|^2 + \gamma \|w_t\|^2 - d(t)(v_t, w) \\ &\quad + d(t)(w_t, v) + \eta \alpha_1 \|v_{xx}\|^2 + \eta \alpha_2 \|w_{xx}\|^2 - \eta \|v_t\|^2 \\ &\quad - \eta \|w_t\|^2 - \eta a(t)(w_t, v) - \eta a(t)(v_t, w) - \eta b(t) \|v\|^2 - \eta b(t) \|w\|^2. \end{aligned} \quad (45)$$

Let

$$\begin{aligned} \Phi_\eta(t) &= \frac{1}{2} \|v_t\|^2 + \frac{1}{2} \|w_t\|^2 + \frac{\alpha_1}{2} \|v_{xx}\|^2 + \frac{\alpha_2}{2} \|w_{xx}\|^2 \\ &\quad - \frac{b(t)}{2} \|v\|^2 - \frac{b(t)}{2} \|w\|^2 + \eta(v_t, v) + \eta(w_t, w) \\ &\quad + \eta \frac{\beta_1}{2} \|v_{xx}\|^2 + \eta \frac{\beta_2}{2} \|w_{xx}\|^2 + \eta \frac{\gamma}{2} \|v\|^2 + \eta \frac{\gamma}{2} \|w\|^2. \end{aligned} \quad (46)$$

Thanks to the inequality (13) we have:

$$\eta |(w_t, w)| \leq \frac{\eta}{2} \|w_t\|^2 + \frac{\eta}{2} \lambda^2 \|w_{xx}\|^2 \quad (47)$$

$$\eta |(v_t, v)| \leq \frac{\eta}{2} \|v_t\|^2 + \frac{\eta}{2} \lambda^2 \|v_{xx}\|^2. \quad (48)$$

Using (47), (48) and (13) in (46) we get:

$$\begin{aligned} \Phi_\eta(t) \geq & \frac{1}{2}(\alpha_1 - b(t)\lambda^2 - \eta(\lambda^2 + \lambda^2\gamma - \beta_1)) \|v_{xx}\|^2 + \frac{1}{2}(\alpha_2 - b(t)\lambda^2 \\ & - \eta(\lambda^2 + \lambda^2\gamma - \beta_2)) \|w_{xx}\|^2 + \frac{1}{2}(1 - \eta) \|v_t\|^2 + \frac{1}{2}(1 - \eta) \|w_t\|^2. \end{aligned} \quad (49)$$

If $\lambda^2 + \lambda^2\gamma - \beta_1 < 0$ and $\lambda^2 + \lambda^2\gamma - \beta_2 < 0$ from (41) and for $\eta < 1$ we obtain

$$\Phi_\eta(t) \geq A_0(\|v_{xx}\|^2 + \|w_{xx}\|^2 + \|v_t\|^2 + \|w_t\|^2) \quad (50)$$

for a suitable constant A_0 . If $\lambda^2 + \lambda^2\gamma - \beta_1 < 0$ and $\lambda^2 + \lambda^2\gamma - \beta_2 > 0$ for

$$\eta < \min \left\{ 1, \frac{\alpha_2 - \alpha_0\lambda^2}{\lambda^2 + \lambda^2\gamma - \beta_2} \right\} \quad (51)$$

we have

$$\Phi_\eta(t) \geq A_1(\|v_{xx}\|^2 + \|w_{xx}\|^2 + \|v_t\|^2 + \|w_t\|^2) \quad (52)$$

for a suitable constant A_1 . If $\lambda^2 + \lambda^2\gamma - \beta_1 > 0$ and $\lambda^2 + \lambda^2\gamma - \beta_2 < 0$ for

$$\eta < \min \left\{ 1, \frac{\alpha_1 - \alpha_0\lambda^2}{\lambda^2 + \lambda^2\gamma - \beta_1} \right\} \quad (53)$$

we have

$$\Phi_\eta(t) \geq A_2(\|v_{xx}\|^2 + \|w_{xx}\|^2 + \|v_t\|^2 + \|w_t\|^2) \quad (54)$$

for a suitable constant A_2 . If $\lambda^2 + \lambda^2\gamma - \beta_1 > 0$ and $\lambda^2 + \lambda^2\gamma - \beta_2 > 0$ for

$$\eta < \min \left\{ 1, \frac{\alpha_1 - \alpha_0\lambda^2}{\lambda^2 + \lambda^2\gamma - \beta_1}, \frac{\alpha_2 - \alpha_0\lambda^2}{\lambda^2 + \lambda^2\gamma - \beta_2} \right\} \quad (55)$$

we get

$$\Phi_\eta(t) \geq A_3(\|v_{xx}\|^2 + \|w_{xx}\|^2 + \|v_t\|^2 + \|w_t\|^2) \quad (56)$$

for a suitable constant A_3 . From (46) we get the following inequality:

$$\begin{aligned} \Phi_\eta(t) \leq & \frac{1}{2} \|v_t\|^2 + \frac{1}{2} \|w_t\|^2 + \frac{\alpha_1}{2} \|v_{xx}\|^2 + \frac{\alpha_2}{2} \|w_{xx}\|^2 \\ & + \frac{b(t)}{2} \|v\|^2 + \frac{b(t)}{2} \|w\|^2 + \eta |(v_t, v)| + \eta |(w_t, w)| \\ & + \eta \frac{\beta_1}{2} \|v_{xx}\|^2 + \eta \frac{\beta_2}{2} \|w_{xx}\|^2 + \eta \frac{\gamma}{2} \|v\|^2 + \eta \frac{\gamma}{2} \|w\|^2. \end{aligned} \quad (57)$$

Using (41) and (13) we get:

$$\begin{aligned} \Phi_\eta(t) \leq & \frac{1}{2}(\alpha_1 + \alpha_0\lambda^2 + \eta\lambda^2 + \eta\beta_1 + \eta\gamma\lambda^2) \|v_{xx}\|^2 + \frac{1}{2}(\alpha_2 + \alpha_0\lambda^2 \\ & + \eta\lambda^2 + \eta\beta_2 + \eta\gamma\lambda^2) \|w_{xx}\|^2 + \frac{1}{2}(1 + \eta) \|v_t\|^2 + \frac{1}{2}(1 + \eta) \|w_t\|^2. \end{aligned} \quad (58)$$

For

$$A_4 = \frac{1}{2} \max\{\alpha_1 + \alpha_0\lambda^2 + \eta\lambda^2 + \eta\beta_1 + \eta\gamma\lambda^2, \alpha_2 + \alpha_0\lambda^2 + \eta\lambda^2 + \eta\beta_2 + \eta\gamma\lambda^2, 1 + \eta\} \quad (59)$$

we obtain from the last inequality:

$$\Phi_\eta(t) \leq A_4(\|v_{xx}\|^2 + \|w_{xx}\|^2 + \|v_t\|^2 + \|w_t\|^2). \quad (60)$$

In (45) let:

$$\begin{aligned} B_\eta(t) = & -2a(t)(v_t, w_t) + \frac{b'(t)}{2} \|v\|^2 + \frac{b'(t)}{2} \|w\|^2 - c(t)(v_t, w) \\ & + c(t)(w_t, v) + \beta_1 \|v_{txx}\|^2 + \beta_2 \|w_{txx}\|^2 + \gamma \|v_t\|^2 + \gamma \|w_t\|^2 \\ & - d(t)(v_t, w) + d(t)(w_t, v) + \eta\alpha_1 \|v_{xx}\|^2 + \eta\alpha_2 \|w_{xx}\|^2 \\ & - \eta \|v_t\|^2 - \eta \|w_t\|^2 - \eta a(t)(w_t, v) - \eta a(t)(v_t, w) \\ & - \eta b(t) \|v\|^2 - \eta b(t) \|w\|^2. \end{aligned} \quad (61)$$

Using (12) we obtain the following inequalities:

$$2a(t) |(v_t, w_t)| \leq a(t) \|v_t\|^2 + a(t) \|w_t\|^2 \quad (62)$$

$$|(v_t, w)| \leq \frac{1}{2} \|v_t\|^2 + \frac{\lambda}{2} \|w_x\|^2 \quad (63)$$

$$|(w_t, v)| \leq \frac{1}{2} \|w_t\|^2 + \frac{\lambda}{2} \|v_x\|^2 \quad (64)$$

$$a(t) |(v_t, w)| \leq \frac{1}{2} \|v_t\|^2 + \frac{a^2(t)}{2} \lambda \|w_x\|^2 \quad (65)$$

$$a(t) |(w_t, v)| \leq \frac{1}{2} \|w_t\|^2 + \frac{a^2(t)}{2} \lambda \|v_x\|^2 \quad (66)$$

Due to (62)-(66) we obtain from (61):

$$\begin{aligned} B_\eta(t) &\geq \left(\frac{\eta\alpha_1}{\lambda} - \eta b(t)\lambda - \eta \frac{a^2(t)}{2} \lambda - \frac{|b'(t)|}{2} \lambda \right. \\ &\quad \left. - \frac{c(t)}{2} \lambda - \frac{d(t)}{2} \lambda \right) \|v_x\|^2 \\ &\quad + \left(\frac{\eta\alpha_2}{\lambda} - \eta b(t)\lambda - \eta \frac{a^2(t)}{2} \lambda - \frac{|b'(t)|}{2} \lambda \right. \\ &\quad \left. - \frac{c(t)}{2} \lambda - \frac{d(t)}{2} \lambda \right) \|w_x\|^2 \\ &\quad + \left(\gamma + \frac{\beta_1}{\lambda^2} - a(t) - \frac{c(t)}{2} - \frac{d(t)}{2} - \frac{3}{2} \eta \right) \|v_t\|^2 \\ &\quad + \left(\gamma + \frac{\beta_2}{\lambda^2} - a(t) - \frac{c(t)}{2} - \frac{d(t)}{2} - \frac{3}{2} \eta \right) \|w_t\|^2. \end{aligned} \quad (67)$$

Using the conditions (41)-(43) for

$$\frac{\eta_0}{2} \leq \eta \leq \eta_0 \quad (68)$$

where $\beta_0 = \min\{\beta_1, \beta_2\}$ and $\eta_0 = \min\left\{1, \frac{\alpha_1 - \alpha_0 \lambda^2}{|\lambda^2 + \lambda^2 \gamma - \beta_1|}, \frac{\alpha_2 - \alpha_0 \lambda^2}{|\lambda^2 + \lambda^2 \gamma - \beta_2|}, \frac{2(\gamma - \gamma_0 + \frac{\beta_0}{\lambda^2})}{3}\right\}$ we obtain $B_\eta(t) \geq 0$. So the zero solution of (4), (5), (6) (or (4), (5), (7)) is stable. Let $\delta > 0$, we get from (45):

$$\begin{aligned} \frac{d}{dt} \Phi_\eta(t) + \delta \Phi_\eta(t) &= 2a(t)(v_t, w_t) - \frac{b'(t)}{2} \|v\|^2 - \frac{b'(t)}{2} \|w\|^2 - \beta_1 \|v_{txx}\|^2 \\ &\quad - \beta_2 \|w_{txx}\|^2 + c(t)(v_t, w) - c(t)(w_t, v) - \gamma \|v_t\|^2 \\ &\quad - \gamma \|w_t\|^2 + d(t)(v_t, w) - d(t)(w_t, v) - \eta\alpha_1 \|v_{xx}\|^2 \\ &\quad - \eta\alpha_2 \|w_{xx}\|^2 + \eta \|v_t\|^2 + \eta \|w_t\|^2 + \eta a(t)(w_t, v) \\ &\quad + \eta a(t)(v_t, w) + \eta b(t) \|v\|^2 + \eta b(t) \|w\|^2 + \frac{\delta}{2} \|v_t\|^2 \\ &\quad + \frac{\delta}{2} \|w_t\|^2 + \delta \frac{\alpha_1}{2} \|v_{xx}\|^2 + \delta \frac{\alpha_2}{2} \|w_{xx}\|^2 - \delta \frac{b(t)}{2} \|v\|^2 \\ &\quad - \delta \frac{b(t)}{2} \|w\|^2 + \delta \eta (v_t, v) + \delta \eta (w_t, w) + \delta \eta \frac{\beta_1}{2} \|v_{xx}\|^2 \\ &\quad + \delta \eta \frac{\beta_2}{2} \|w_{xx}\|^2 + \delta \eta \frac{\gamma}{2} \|v\|^2 + \delta \eta \frac{\gamma}{2} \|w\|^2. \end{aligned} \quad (69)$$

By using the inequalities (62)-(66) we obtain from the above equality:

$$\begin{aligned}
 \frac{d}{dt}\Phi_\eta(t) + \delta\Phi_\eta(t) &\leq [\delta\frac{\alpha_1}{2} + \delta\eta\frac{\beta_1}{2} + \delta\eta\gamma\frac{\lambda^2}{2} + \delta\eta\frac{\lambda^2}{2} - \eta\alpha_1 \\
 &\quad + \eta\lambda^2(b(t) + \frac{a^2(t)}{2}) + \frac{\lambda^2}{2}(|b'(t)| + c(t) \\
 &\quad + d(t))] \|v_{xx}\|^2 + [\delta\frac{\alpha_2}{2} + \delta\eta\frac{\beta_2}{2} + \delta\eta\gamma\frac{\lambda^2}{2} + \delta\eta\frac{\lambda^2}{2} \\
 &\quad - \eta\alpha_2 + \eta\lambda^2(b(t) + \frac{a^2(t)}{2}) + \frac{\lambda^2}{2}(|b'(t)| \\
 &\quad + c(t) + d(t))] \|w_{xx}\|^2 + (\frac{\delta}{2} + \frac{\delta\eta}{2} + a(t) + \frac{c(t)}{2} \\
 &\quad + \frac{d(t)}{2} + \frac{3}{2}\eta - \gamma - \frac{\beta_1}{\lambda^2}) \|v_t\|^2 + (\frac{\delta}{2} + \frac{\delta\eta}{2} + a(t) \\
 &\quad + \frac{c(t)}{2} + \frac{d(t)}{2} + \frac{3}{2}\eta - \gamma - \frac{\beta_2}{\lambda^2}) \|w_t\|^2
 \end{aligned} \tag{70}$$

or

$$\begin{aligned}
 \frac{d}{dt}\Phi_\eta(t) + \delta\Phi_\eta(t) &\leq [\delta\frac{\alpha_1}{2} + \delta\eta\frac{\beta_1}{2} + \delta\eta\gamma\frac{\lambda^2}{2} + \delta\eta\frac{\lambda^2}{2} \\
 &\quad - (\eta - \frac{\eta_0}{2})(\alpha - \alpha_0\lambda^2)] \|v_{xx}\|^2 \\
 &\quad + [\delta\frac{\alpha_2}{2} + \delta\eta\frac{\beta_2}{2} + \delta\eta\gamma\frac{\lambda^2}{2} + \delta\eta\frac{\lambda^2}{2} \\
 &\quad - (\eta - \frac{\eta_0}{2})(\alpha - \alpha_0\lambda^2)] \|w_{xx}\|^2 \\
 &\quad + (\frac{\delta}{2} + \frac{\delta\eta}{2} + a(t) + \frac{c(t)}{2} + \frac{d(t)}{2} + \frac{3}{2}\eta - \gamma - \frac{\beta_1}{\lambda^2}) \|v_t\|^2 \\
 &\quad + (\frac{\delta}{2} + \frac{\delta\eta}{2} + a(t) + \frac{c(t)}{2} + \frac{d(t)}{2} + \frac{3}{2}\eta - \gamma - \frac{\beta_2}{\lambda^2}) \|w_t\|^2.
 \end{aligned} \tag{71}$$

For sufficiently small $\delta > 0$ we obtain:

$$\frac{d}{dt}\Phi_\eta(t) + \delta\Phi_\eta(t) \leq 0. \tag{72}$$

From (72) we have

$$\Phi_\eta(t) \leq \Phi_\eta(0)e^{-\delta t}. \tag{73}$$

Thus we obtain the required inequality (44). \square

Acknowledgment

The author is grateful to Prof. V. K. Kalantarov for his valuable comments and helpful suggestions.

References

- [1] Dym,C.L. Stability theory and its applications to structural mechanics.(Noordhoff, Leyden,The Netherlands).1974

KURT

- [2] Kalantarov,V.K and Kurt, A. (1997) The Long-Time Behavior of Solutions of a Nonlinear Fourth Order Wave Equation, Describing the Dynamics of Marine Risers. ZAMM-Z. angew. Math. Mech. 77, 3, (1997), 209-215.
- [3] Movchan,A.A.(1959) The direct method of Liapunov in stability problems of elastic systems. Journal of Applied Mathematics and Mechanics 3,(1959),686-700
- [4] Plaut,H.R. Lyapunov stability of columns,pipes and rotating shafts under time-dependent excitation. Dynamics and Stability of Systems, Vol 9, No.1,(1994),89-94
- [5] Rektorys, K. Variational Methods in Mathematics, Science and Engineering. (D. Rieidel Publishing company, Dordrecht-Holland/Boston-U.S.A /London-England.)1975
- [6] Zubov,V.I. Methods of A.M.Lyapunov and their Applications Noordhoff, Groningen,The Netherlands)1964

Ayfer KURT
Çağ Üniversitesi,
Adana-Mersin Karayolu Üzeri, 33800
Yenice-Mersin-TURKEY

Received 09.02.2000